
 

 

 

                              組  番 名前              

 

１ 次の計算をしなさい。 

（1） 2.4×1.5－1.6            （2） 15.8－8.4÷0.7 

 

 

 

 

（3） (7.2－4.8)÷0.3           （4） 4.5×(0.7＋0.8) 

 

 

 

 

２ 次の計算をしなさい。 

（1） 
3
2

5
3
            （2） 

10
9

8
3
          （3） 

21
4

7
8
  

 

 

 

 

（4） 
7
872             （5） 

15
14

20
21

          （6） 
16
9

32
27

  

 

 

 

 

（7） 
16
21

÷
8
7
 

 

 

 

 

３ 次の計算をしなさい。 

（1） 
20
315

3
2

         （2） 
7
49

8
20

       （3） 
5
4

2
1

4
4

  

 

 

 

 

小数・分数の計算③（いろいろな計算） 

= 2 = 3
.

8

= 8 = 6 .
75

1

= 戸 Ʃ = 戸 * す
x
式 =

万
8

→八:

戸 =

石
5

= 6

= 7287
人
.

=式逆パx = 27 ×激=
3

= 63 = 9 ー

2

16 ク
二 女

21 8

2
こ

3

己 9 己
ニ ー 十

3 4
=

T85 ×

万
4

=45
=

石
35

= 成 = 孜
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